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« Slope =
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- Sl vertical change output change . ‘rise Ay
* Slope = —— e =15 - 2
| horizontal change  input change  tun  Ax
T _ =y | |
* Slope formula: slope = 2N
vertical change output change . "rise Ay |
° Slope = - = - — _ |
horizontal change  input change  run  Ax -
* Slope formula: élope — 2N
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» Lines with positive slope rise, or increase, from left to right.
» Lines with negative slope fall, or decrease, from left to right.
- * Horizontal lines have zero slope.

* Vertical lines have undefined slope.

* The units for slope are the units on the vertical axis divided by the units on
the horizontal axis.




